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31. Correct the following sentences:
(a) I wish I can get the chance of Admission in ‘Bangladesh University of Textile!”

Ty I wish I could get the chance of Admission in “Bangladesh University of Textiles!”

(b) By and by he became rich.

Aq14i¥; By the by he became rich.
(c) Fertilizers are used primarily to enrich the soil and increasing yield.

Far: Fertilizer is used primarily to enrich the soil and increase yield.
32. Fill in the blanks :

(a) The expression “Lingua franca” means —
JY: A shared common language used between people whose languages are different.

(b) The meaning of the phrase ‘By all means’ is —
TaieE: In every possible way to accomplish a task.

(c) The teacher is popular ___ the students.
TrgE: With

33. Translate into English :

(a) St o Bt Reoveey
saryE: Ticket of which place have you bought?

(b) AT P CSTF AT |
stargi|: The girl burst into tears.

(¢) 31T O T, (1T T ©f
sraiiE: All 1s well that ends well.

(d) Transform the following sentence as directed in the bracket :
Very few poets in Bangladesh are as great as Nazrul. (Comparative)
srigiE: Nazrul is greater than most other poets in Bangladesh.
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